SAE jZ=%sk
WFS SAE 90° Z5;%=4$£:L(1S06162-1/-2) — EO 24° &
L4
L3 L4
S1
< 8 I— —
[a]
il o &
n
sl
I S2
m— EE)
@D1
| 201
3000 PSI %71
RERSH D1 24 g T AR (bar)
SAE 1ISO (F$M)
(in) (ON) ||| D3 | D4 [ L1 | L2 | L3 | L4 | L5 | ST |S2| () (3EH1) T/t iTHS CF | 71
112 13 [12S | 12 [30.2| 50 |42.5|6.7 | 44 [58.5| 22 | 24 | M 8x25 [5/16x11/4| 0.38 WFS32/12S 210 | 210
112 13 |15L | 12 [30.2| 36 |29.0| 6.7 | 36 [44.0| 24 | 27 | M 8x25 [5/16x11/4| 0.40 WFS32/15L 315|315
12 13 |16S | 12 [30.2| 38 |29.5|6.7 | 36 [48.0| 24 | 30 | M 8x25 [5/16x11/4| 0.43 WFS32/16S 350 | 350
12 13 |[18L | 12 [30.2| 50 |42.5|6.7 | 44 [59.0| 22 | 32 | M 8x25 [5/16x11/4| 0.44 WFS32/18L 315|315
3/4 19 |16S | 19 [38.1| 64 |55.5|6.7 | 53 [73.5| 27 | 30 | M10x30 | 3/8x11/4| 0.60 WFS33/16S 350 | 350
3/4 19 |[18L | 19 [38.1| 39 |31.5|6.7 | 42 [48.0| 30 | 32 | M10x30 | 3/8x11/4| 0.66 WFS33/18L 315|315
3/4 19 |22L | 19 [38.1| 41 |33.5|6.7 | 42 [50.0| 30 | 36 | M10x30 | 3/8x11/4| 0.66 WFS33/22L 160 | 160
3/4 19 |20S | 17 [38.1| 43 |32.5|6.7 | 42 [54.0| 30 | 36 | M10x30 | 3/8x11/4| 0.76 WFS33/20S 350 | 350
3/4 19 |25S | 17 [38.1| 45 |33.0|6.7 | 42 [57.0| 30 | 46 | M10x30 | 3/8x11/4| 0.89 WFS33/258 350 | 350
1 25 |20S |20 |44.5| 65 [54.5|8.0 | 60 |77.0| 34 | 36 | M10x30 | 3/8x11/4| 0.78 WFS34/20S 350 | 350
1 25 | 22L | 18 |44.5| 65 [57.5/8.0 | 60 |74.0| 34 | 36 | M10x30 | 3/8x11/4| 0.81 WFS34/22L 160 | 160
1 25 | 28L | 25 |44.5| 44 (36.5|8.0 | 45 |53.0| 36 | 41 | M10x30 | 3/8x11/4| 0.85 WFS34/28L 160 | 160
1 25 | 25S |20 |44.5| 48 [36.5|8.0 | 45 |57.0| 36 | 46 | M10x30 | 3/8x11/4| 0.95 WFS34/258 350 | 350
1 25 | 30S |24 |44.5| 50 [36.5|8.0 | 45 |63.0| 36 | 50 | M10x30 | 3/8x11/4| 1.06 WFS34/30S 250 | 250
11/4 32 |35L |32 |508| 57 [46.5/8.0| 50 |68.0| 41 | 50 | M10x35 | 3/8x11/4| 1.15 WFS35/35L/10 | 160 | 160
11/4 32 |25S |27 |50.8| 55 [43.0/8.0 | 60 |67.0| 41 | 46 | M10x35 | 3/8x11/4| 1.35 WFS35/25S/10 | 200 | 200
11/4 32 |30S |28 |50.8| 57 [43.5/8.0| 50 |70.0| 41 | 50 | M10x35 | 3/8x11/4| 1.40 WFS35/30S/10 | 200 | 200
11/4 32 |38S |28 |50.8| 59 [43.0/8.0| 50 |74.0| 46 | 60 | M10x35 | 3/8x11/4| 1.53 WFS35/38S/10 | 200 | 200
11/4 32 |35L |32 |50.8| 57 [46.5/8.0| 50 |68.0| 41 | 50 | M12x40 |7/16x11/2| 1.15 WFS35/35L 160 | 160
11/4 32 |25S |27 |50.8| 55 [43.0/8.0| 50 |67.0] 41 | 46 | M12x40 |7/16x11/2| 1.35 WFS35/258 200 | 200
11/4 32 |30S |28 |50.8| 57 [43.5/8.0| 50 |70.0| 41 | 50 | M12x40 |7/16x11/2| 1.40 WFS35/30S 200 | 200
11/4 32 |38S |28 |50.8| 59 [43.0/8.0| 50 |74.0| 41 | 60 | M12x40 |7/16x11/2| 1.53 WFS35/38S 200 | 200
112 38 |35L |30 (|60.3| 78 [67.5/8.0| 66 |83.0| 50 | 50 | M12x35 | 1/2x11/2| 1.55 WFS36/35L 160 | 160
112 38 |42L | 36 |60.3| 58 [47.0|8.0 | 55 |70.0| 50 | 60 | M12x35 | 1/2x11/2| 1.60 WFS36/42L 160 | 160
11/2 38 |38S| 36 |60.3| 64 (48.0/8.0 | 55 |79.0| 50 | 60 | M12x35 | 1/2x11/2| 1.95 WFS36/38S 200 | 200
XREFSEFRE, IR ITHEEEZHTRAZBHMAE, FSHHS,
“EIRIE R E IR R A RR NS 5
ITRSER
EZES! REALIE w5l ~l P FRAEEE R
SZVELE k=3 aEMEREZ, aENMEREE,
AR R OB £l RORE
RN, FooNiniBiEsE CF WFS32/16SCFX WFS32/16SOMDCF |WFS32/16SOMDCFU |NBR
ENc] 71 WFS32/16S71X WFS32/16SOMD71 WFS32/16SOMD71U VIT
H15 FEamtEAK 4100/CH



